Math 157 - Quiz 10 Name \Qg
November 11, 2015 Score _______

Show all work to receive full credit. Supply explanations when necessary.

1. (4 points) Find the absolute extreme values of f(z) = 3z* — 823 — 4822 + 5 on [-3, 1].
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2. (4 points) The revenue from selling ¢ items is R(q) = 500q — ¢® and the total cost is
C(q) = 150 + 10q. Find the quantity that maximizes profit. Explain or show that you
have indeed found a global maximum.
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3. (2 points) When production is 4000, marginal revenue is $8.00 per unit and marginal
cost is $8.75 per unit. Do you expect maximum profit to occur at a production level

above or below 40007 Explain.

P(CD R(.‘{;"C(QAI

P/(‘-{OOOW - R {4000} - C’(\iooo)
= B8-8.75 = -0.75

= Pvaot:'\‘r R QEQQQAS‘MS

AT Q=4Yooo => Decrease p‘zomu.c-r\o;o
70 [N CREASE PROFIT.




